IN TERMEDIATE ALGEBRA
GPS #30 7-L RADICAL EXPRESSIONS AND RATIONAL EXPONENTS NAME:
Useful Guidelines:
* g =gr = b means g = b", where %q is the principal #" root of a,
* ('/217 = Ial ifnis even. For example: {’/(—T)“ = ](—3)[ =3,
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Rational Exponents:

* If m and n are positive integers with S in lowest term, then g% = 2
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Evaluate the following, simplify if possible, and Wﬁmr with only positive exponents.
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INTERMEDIATE ALGEBRA

GPS #31 7.2 SIMPLIFYING RADICAL EXPRESSIONS NAME: %M /%1 TI:@C

Useful Guidelines:
If %/a and b are real numbers, and 4 # 0 and » is a natural number, then ,
* %fg-%b =%ab and n—=£ For example: 48-42 =4822 dl{/E=3—\/§~=2
op 27 327 3
* Rationalizing the Denommator.
Writing the quotient without a radical expression in the denominator.
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Assume all vanables represent positive re'T ers. Simplify the following (if possible):
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4. Rationalize each denominator. Assume that all variables are positive.
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INTERMEDIATE ALGEBRA

GPS#32 7.3 OPERATIONS ON RADICAL EXPRESSIONS I NAME: %QM 'D d bd/
Useful Guidelines:

If \/— and \/— b are real numbers, and b # 0 and 7 is a natural number, then
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* 2fg.4fp = %/ab and n—._T For example: 4842 = 482 = 2and\/: \/_ B/Z)
*NOTE: ¥a+%b#%a+b and a6 +2a—p

Only radical expression- with the same index and the same radicand may be combined
(combining the like terms or same family only).

For example: \/_+2\/§+4\/7+2\/— 3«/§+6\/_

Assume all variables represent positive real numbers. Simplify the followmg af poss1ble
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INTERMEDIATE ALGEBRA

GPS #33 7.3 OPERATIONS ON RADICAL EXPRESSIONS I NAME: FQW P CULG/L '
Useful Guidelines:

* To rationalize denominator with one radical term:
Multiply both the numerator and the denominator by that radical term in the denomin

ator. (7/9'
3 «/_ 3J_

3
For example: —==-—".Y= =

* To rationalize denommator with blnomlals involving radicals:
Multiply both the numerator and the denominator by the conjugate of the denominator.

3 3. (4= _3(4-5) _3(4-5)
For example: 4+\/_ (4+\/_) @ \/_) 6=s T

Rationalize the denominator in each expression{ Assume all variables represent positive real
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- %~ Rationalize the denominator in each expression. Assume all variables represent positive real
numbers and no depommators are 0.
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INTERMEDIATE ALGEBRA '
GPS #34 7.4_RADICAL FUNCTIONS NAME: %"‘o’b{/{ @j@(/

Useful Guidelines:

* Square Root and Cube Root: The cube root function is defined for all inputs,
~ whereas the square root function is defined only for nonnegative inputs.

* Square Root Property: Ifkisa nonnegative numbers and x* =k, then x = +/k .
‘| * Solve Equations with Cube Roots: The solution to the equationx® =k isx =¥k .
* Power function: £(x) = x?, where p is a rational number.

* Root function: f(x) =1%/x , wheren>2.

- 1. Graph each function. Give the domain and the range.
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2. Use the square root property to solve each equation and give the solution set.
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INTERMEDIATE ALGEBRA

GPS # 36 7.6 COMPLEX NUMBERS

Useful Guidelines:

* Real Partof a+bi: a v
* Imaginary Partof a+bi: b
* Complex conjugate of a-+bi: q-bi

NAME: PC{W// PCU%F/(,

1. Use the imaginary unit to write the expression. = 'Mw?‘; et
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2.7 Write each sum or difference in standard form.
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3. Write each product in standard TomT
a. (3-i)(2+2i)
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4. Write each quotient in standard form.
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* Imaginary Unit: i=+-1and i* =—1. Example:v—5 =iy5. £ = RGN e
* Standard Form: a + bi, where a and b are real numbers.
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